SBI CLERKS EXAM

Exam Held On : 13-07-2008 ( 2nd Sitting )

GENERAL AWARENESS

1. Federal Reserve is the financlal
organisation of the —
1] UsA (2] Britain
i3] France (4] Japan

(5] Germany

2. Almost all the major banks which
allow Non-Resident Indian Ac-
rounts or Nen-Resident Ordinary
Accounts offer lower tax rate to
those customers who give a proof
that they are from a region that
has a DTAA with India, What is
the full from of DTAA ?

[1) Double Texation Avoidance
Agreemient

{2} Duty & Taxation Avoldance
Agreement

(3 Duty & Tax on Actual Amount

4} Declaration of Tax on Actual
Amount

15} None of these

3. As per the figures published in
newspapers the growth of depos-
its in public sector Banks during
the last five years was not very
impressive as compared to that
of private banks. What was the
compounded annual growth rate
of P5Bs during the period men-
tional above 7 About —

(1] 10% 2) 12%

3] 14% 4) 20%

15) 16%

4. As per the Government Notifica-
tions/Advertisements given in
varlous newspapers the wheat
procurement this year was of a
record of 210 lakh MTs. Which
of the following was/ were the
contributory factors In such a
record making procurement ?
14 Mintmum support price was

kept as Rs. 1, 500 per quin-
tal,

(B] Wheat was also procured from
non-traditional state like Gu-
jarat and Maharashtra.

[T} State Governments were also
involved actively In the
scheme.

(1) OnlyA (2) Only B

(3) OnlyC (4} BothBandC

(5) None of these

B. Santosh Trophy s associated
with the game of —

(1) Cricket (2) Badminton

(3) Tennis {4) Chess

(5) None of these

6. Aung San Suu Kyl whose name
was in newspapers recently {s from
which of the following countries ?

(1) Nepal (2) Myanmar

(3) Bangladesh (4) South Korea

(5) None of these

7. Very often we read in newspa-
pers that some sports persona
have to go for a Dope Test after
their performance in the field.

Why Dope test is conducted ?

(A) To know the general heaith of
the sports person

(B) To know to sugar level in their
blood

{C) To detect whether they have
taken any performance en-
haneing drugs.

(1) OnlyA  (2)OnlyB

(B3)1OnlyC (4) AlA,BandC

{5l None of these

8, As per the newspaper reports

*some economically developed

states only hold about 60% of the

total ‘Demat Accounts’ in India. A

Dematl Account (s —

(1} an account which is opened
by the people of the lower in-
come groups of soclety.

(2) an aceount in which trading
of the shares Is done.

(3] an account which can be
opened only by minors.

{4) an account which can be op-
erated by big corporate hous-
es and are mainly business
accounts like current ac-
counts,

(5) None of these

8. Sydney Pollack who died recent-
ly was a well known personality
in the field of —

(1) politics (2] sports

(3) ilms  (4) literature

(5) None of these

1

10. As per the news recently pub-
lished in the leading newspapers
the King of which of the follow-
ing countries has to leave to give
way to new Democratic Type of
Government in the ¢ountry 7
{1} Myanmar (2] Bangladesh
() FY @ Japan
{5) Nepal

11. “Kuznetsova & Safina advance: o
French Open” was the news in
various newspapers recently.
French Open |s on event of which
of the following games/sports ?

(1) Bacdminton
(2) Golf
(3) Lawn tennis
{4) Table Tennis
(8) Chess
12. Which of the following organisa-
tions is known as Market Regu
latorin India ?
(1) 1BA (2) SEBI
[3) AMFI 4) NSDL
{5) None of these
13. Many a times we hear about 'NF.

in banking terminology. What Is
the full form of NPA ?

(1) New Performing Avenues

(2) Net Performing Average

(3) Not Presentable Applications

(4} Non-Performing Assets

(5) Negotiable & Preferential As-
set

14. The punch line in the advertise-
ments issued by which of the
banks {s “Nation Banks on us™ ?
(1) Bank of Baroda
(2} 'IDBI Bank

(3] Corporation Bank

(4] Bank of India

(5] None of these

18. Banks in India are categorised as

Public Sector and Private Sector

Banks. Which of the following

types of Banks are called public

" sector Banks ?

(1) Those which are giving ser
vice to poor sections of socl-
ety like those living below pov
erty line, in remote areas or
in difficult areas.




(2) Thoae in which Government
of India has a cuntrulllng
stake.

(3] Those who mwemed and
regulated by the Reserve
Bank of India only, Finance

* Ministry does not have any
control over them.

(4) Only those banks are called

public sector whose shares.

are traded In Stock Marketa.
Others are private banks.

(3) None of these

18. The Reserve Bankof India keeps
on changing varfous ratio/rates
frequently, Why this 1s done ?
[A) To keep inflation under cori-

trol

(B) To ensure that Indian Rupee
dounntlmuiumm‘hatval
ue.

(C) To ensure that hanks do-not
eamn huge profits at the cost
of public money,

(1}OnlyA  (2)OnlyB -

(31OnlyC (4 AlA, BandC

{5) None of these'

17. As per the news published in the
major financial newspapers some
banks/financial institutions are
going to set-up an Asset Recon-
struction Company.(ARC): ARCs
arcnurmﬂ.llyutupfm'wlﬂﬂlcd'
the following
() To ball out ud:lnduatdal

units
llﬂﬁpmﬂdrm‘nditl’nrapm

ular sector only like housing/

personal loans ete.

(C) To manage Mutual Funds
launched by various banka.

(1)OnlyA  (2]OnlyB " -

(3 OnlyC

(4) AlA, Band C

(5) None of these

18. Which of the phenome-
mnumm'mdflmﬁmdrﬂmthr
associated with the ‘économy of
USA has put a catastroplile influ-
ence onl the econgitty of the world?
(1) Increase in the ofl prices
(2) High'level of tnflation
(31 Huge and expendi-

ture due to attack on Iraq by

" USAand alHed forces

{4) Sub-prime crisls '

{5) None of these '

19, Why the name of Harshita Saxe-
nammnmrmﬂy?

{1) She Was adjudged as Femina
Miss India Earth 2008..

2 ﬁmlﬁmﬂﬂﬂh{u}'ﬂhm
ﬂ!ﬂﬂpﬂfﬂtﬂuﬂmhﬂmfor

k] Shelnuhcudmlmd;ﬂan
Team in Olympies 2008

{4) She has won Bodker Prize for

- her first novel

lﬁi None of these

20. Chalrman of State Bank ol India
was adjudged as the ‘Banker of
the year 2007 by which of the
following publications ?

{1)- Busines# Standard
@ amqmumm
3 ‘Fortune

(4) Business Today
{5) None of these :

21 Which of the following is NOT a
forelgn bank operating in India?
{1) ABN Amro  {2) HSBC
ﬁsundudclnnmamk
l-ﬁ‘!"uﬂﬂ.hk

; ﬁﬁ]]tliueml'hrﬂgnﬁanka
hmdﬂnmummuma

" banking related or financial term?
m Credit worthiness
mwm "

(3) Payment gateway
.+ (4) Polymerisation . -
- (6} All are banking terms

-_ﬂ-lm has dong an agreement

with which of the following coun-

hhwﬂﬂchlllhuk:mnu 123

-w?

{1) Britain

(AUSA

-l}ﬂi!lmofﬂime
24.Who amongst following 'is the

mﬂ!prd'ﬂwbbutﬂmaakt?

(1) Vikram Seth

(2} Jhumpa Lahiri

(3} Kiran Desai -

(4} Shobha De

{5} None of these

12) Russia
{4) France

28, ‘Lhasa’ ‘which was in news re--

. cently 1 & town In -

. (1) Myanmar{2) Afghanistan
(3) Tihet ~ (4) Srilanka
(5) None of these :

26. The International Mothers’ Day is
observed on the second Sunday
of the month of —

{1} June  (2) May
(@ July © (4 August
A6 Apell -

27. Which of the following is trus
about the National Rural Empli
ment Guaranilee Act ?

(&) It is applicable only in 100 11:
ral districts.

(B] It gives a guarantesad employ

, ment of 100 days to all thos:
wha are eligible for the same
and are also willing to take i

[C) This act is applicable only {r:
men between the age o
21-65.

(WOnlyA (B)OnlyB

(3 OnlyC  (4)ANA Bamd

(5) None of these

28. Which of the following states in
India was adjudged the Best o
governed state in 2007 ?

(1) Karnataka

{2] Uttar Pradesh

(3 Weat Bengal

(4) Orisea {5 Delh

29. Which of the following prizes /
awards was ghven to the Bill in:
‘Melinda Gates Foundation recrr
Iy ?

(1) Indira Gandhi Prize for Poace
Disarmament and Develop
ment for 2007

(2) Nobel Peace Prize 2007

(3) Junior Nobel Prize 2007

(4] US Energy Star Award

(51 None of these

, 30, Grameen Bank which Is known

as the bank of poors 1s an organ
isation based In —
{1) Pakistan (2} 5ri Lanka
(3) India (4} Nepal
(5) Bangladesh

31. International Herbal Summ
2008, which was organised in
April 2008, was organised |
(1) Landon  {2) Islamabad
(3) Beifing  (4) New Delhi
() None of these

33. Which of the following awirds i
given by UNESCO Lo those whi
put their efforts to popularise s
of science in life 7
(1) Magsaysay Award
{2) Bocker Prize
(3 Kalinga Award
(4) Kalidas Samman
(5) None of these

83. Which of the following ts the book
written by Chetan Bhagal 7
(1) My Life

(2] Shalimar the Clown

{3} Purpcse of Life



(4] Three Mistakes of My Life
[3) None of these
- Which of the following schemes
was launched to promote basle
education In Indla and attract
children In school going age to at-
tend the classes ?
(1} Pulse Polio Abhtyan
(2] Operation Flood
[3) Mid Day Meal Scheme
(4} Operation Black Board
{5) None of these
35. The Arab League Summil was or-
ganised in'March 2008 in Dam-
ascus, Damascus Is a city in —

I1)Syria  (2) Afghanistan
(3] Lebanon (4] UAE
[5] 1srael

6. Yousuf Raza Gillani is the newly
elected —
{1] Prime Minister of Bangladesh
(2) President of Bangladesh
(3 Prime Minister of Afghanistan
(4] President of Pakistan
(5} Prime Minister of Pakistan
Which of the following states has
got a new Chiel Minlster after the
resignation of DD Lapang in
March 2008 ?
(1) Assam
(2} Arunachal Pradesh
(3} Orissa (4] Meghalaya
{5] None of these
- Which of the following is NOT a
tax/duty levied by the Govern-
ment of [ndla ?
(1) Income Tax
(2} Education Cess
I3 Service Tax
14] Custom Duty
{5) Toll tax
39. Which of the following is India's
Nuclear capable surface to sur-
face missile ?

(1) Agni-1
(2] Dronacharya-1l
(3l Edusat-Tv
4 Arjun-ll
(3] None of these
40. Many times we hear about SEZ

in newspapers /magazines, What
s the full form of SEZ ?

{1] Small Economic Zone

(4] Social Economic Zone

[} Special Enforcement Zone -
(4} Service & Economic Zone

(51 Special Economic Zone

a7.

GENERAL ENGLISH
Directions (41-80) : Read the fol-
lowing passage carefiilly and answer
the questions glven below it. Certaln
words are printed in bold to help you
locate them while answering some of
the questions. «

The window offered a view of the
house opposite. The two families did
not speak to each other because of a
property dispute. One day, Ruchira's
textbooks lay untouched as the young
@irl's gaze was on the happening in
the house opposite. There were two
new faces in the nt house-
hold — that of an elderly widow and
a girl. aged sixteen. Sometimes the
elderly lady would sit by the window,

doing the young girl's hiair. ﬂnutl'u:r .

days she was absent.

'nierwwrouh;andlﬂy
dow - she cleaned the rice, paddy:
split nuts, put the cushions in the sun
to air them. In the afternoons while
the men were all at work some of the
women slept and others played cards.
The girl sat on the terrace and read.
Sometimes she wrote. One day there
was a hindrance. She was writing
when elderly woman snatched the
unfinished Jetter from her hands.
Thereafter thie girl was not to be seen
on the terrace. during the
day squnds came from the house in-
tlicating that a massive argument was
going on inside. ;

A few days passed. Onemnmg
Ruchiranuﬂmdthtglﬂﬂandmgm
the terrace in tears. The evening
prayer was In progress. As she did
daily, the girl bowed several times in
prayer. Then she went downstairs.
That night Ruchira wrote & letier to
befriend her. She went out and
posted it that very instant. But as she
lay In bed in the night, she prayed fer-
vently that her offer of friendship
wouldn't reach its destination. Ruchira
then left for Madhupur and returned
when it was time for college to start.
She found the house opposite in dark-
ness, locked. They had left.

When she stepped into her room
she found the desk piled with letters
- one had a local stamp on it with her
name and address in unfamiliar hand-

writing. She quickly readit. They con-,

tinued to write to each’ other for the
next twenty years.

-H Why did Ruchira write a letter
to her new neighbour ?

1) Eheml.edtnoﬂ'crhu help.

(2] She wanted to be friends

{3) To apologise for her family's

* behaviour towards her fam-
ly. .

14 To encourage her to con-
tinue learning to read and
write, _

{5 None of these

42. Which of the following can be
" sald about Ruchira ?

(Al She used to spy on her

- nelghbours because she
didn't trust them.

{B) She was at home because
she was studying,

(C) She did not speak to her
neighbours because they did
not own property.

(1) None

(2) Only (B)

(3) Both (A) and (B)

(4) Only (C)

(5) Both {A) and (C)

43. How did the new young
spend her days ?

(1) She was busy writing letters
to Ruchira. -

(2) She used to daydream about
her past experienices.

{3) She would attend to the
needs of the widow. )

(4) She spent her time learning
to read and write.

(5] None of these

44 Why was the young neighbour

prevepted from sitting on the
terrace ?

(1) She used to while away her
time instead of working,

{2) The old woman could no
longer keep an eye on her.

(3] She had not finished writing
the letter she was asked to.

{4) She had been writing a let-
ter which she wasn't sup-
posed to.

(5] As a punishment for being
disrespectiul and arguing
with her elders.

45. What was the major argument in
the house about?

(1) There were too many people

living there, which r:sultr:d
in arguments,



(2) The young girl was insisting
on attending college. -

(3] The young girl had been
wasting her time instead of
working,

(4) The old woman did not
guard the young girl closely.

(5) None of these .

46. Which of the following is TRUE
in the context of the passage?
(1) The young girl was very de-

vout and prayed everyday.

(2) Only two letters were ex-
changed between the two
girls. .

(3) The new young neighbour
,was a servant,

14) ’Ihcn[tl:rnomwunﬂmeta
relax for everyone.

(5] The two families had fought
because of the letters the
two girls wrote to each other.

47. Why did the young girl wish
that th:l:t'lzr#mldﬁmch

- its destination?

(1) She was going away and
would not be gble to see if
hermlghbwrmmm
recelve it.

(2] She was afraid lhltltmld
lead to nthrdhetm
the two families.

(3) She was afraid that hm-

neighbour would be angry

when she received her let-
ter. ;

(1) None  (2) Only(A)

(3) Only (C)

(4] Both (B) and (C)

(5! Only(B) "

Directions (48-40) : Choose the
word which Is most nearly the BAME
in meaning to the word printed in
bold as used In the passage.
48. Hindrance

(1} handicapped _
2 delay (3 interruption

(4) difficult  (5) bar
40. Offered
(1) forward  (2) willing
(3} volunieered
(4] provided (5) put I
80. Choose the word which is most
OPPOSITE in meaning to the

word plled as used In the pas-
sage.
(1] Jow Iﬂ] empty

{3) full {4) mothing

(5) fell _

Directions (51-85) : Read each
sentence to find out if there is any er-
ror in it. The error, if any, will be in
one part of the sentence. The num-
ber of that part is the answer. If there
is no error the answer Is (5). (Ignore
errors of punctuation, if any).

51. The price of (1)/ all petroleum
products (2)/ s controlled (3)/

by the government. (4)/ No er-
ror (5)

B82. There is a (1)/ tax benefit for
{2)/ the income of (3)/ senior
citizens. (4]/ No error (5)

B3, In my opinion {1)/ Vikas has (2)/
“failed to follow (3)/ none of the
instructions. {4)/ No error (5)

B4. At least of (1)/ three per cent of |
(2)/ those who applied (3)/ will |

be selected. (4)/ No error (5)
B5. He was a (1)/ well known ecorno-
mist (2)/ who usual wrote (3)/
for international journals. (4)/
No error (5)
Directions (56-80) : Which of
the phrases (1), (2). (3] and (4) given

below should replace the phrase |*

given in bold in each of the following
sentences to make the sentence

grammatically meaningful and correct. |
. If the sentence is correct as it is and
-'Nnmeﬁhnhmquﬂd‘ marl (5] as

the answer.

6. Oceupying by many meetings,

he did not reach home till late,
(1) By occupying
(2) While ocupied
Occupation of
" (4) Occupied with

(5) No correction required

B87. We were nervous while the au-
Mﬂ“hﬂmmm.
(1) had g ﬂnwdh
(2) was g aver
(3) gone through-
(4) went by
(5) No correction required

B8. Parents have to take some of
this while
their. children to use the
internet.
(1) each of these precaution
(2) every precautions
(3) alf these precautions
(4) any of this precaution
(S) No correction required

58. An employee will get the incen
tive, only if he deserves it.
(1) he himself deserves
(2) they deserving it
(3] he deserved for it
(4] he was deserving
(5) No correction required
80. Sunita has been posted io
Chennal, Where is her it
place,
(1) which ts her (2] that Is he
(3) that she has (4] there (s b
{5} No correction required
Directions (61-88) : Rearrang:
the following six sentences (A, (Bl
(C]. (D), (E] and (F} in the proper =i
gquence Lo form a meaninglul pand
graph : then answer the question:
given below them,

(A) The old lady however refused
pay him and was taken to coun

(Bl The doctor, confident of hi= albii:
tles, agreed.

[C) Finally he cured her after all il
valuable furniture had been
moved from her house.

(D) He then saw her furniture
realised its value and decided 1o
delay curing her till he could
steal it.

(E) A blind old lady promised to o
the doctor a large sum of money
if she was cured and nothing i
she wasn't.

(F) She was askeéd why she refuscd
to pay by the judge. “l am no
cured. | cannot see all my fur
niture!” was the reply.

81, Which of the following shoulil 1+
" the SIXTH (LAST) sentence o
ter rearrangement ¥
(B (2)C
(3 D 4 E
(5 F
62. Which of the following should I
the THIRD sentence after rear
rangement?
(1 B i C
(31 D 4 E
(5 F
83. Which of the following should 1+
the FIFTH sentence after rea
rangement?
{1} A
(3)C
51 E
B4. Which of the following shouli! 14
the SECOND sentence afier
arrangement?

(21 B
4 D



A 2B
[@cC 4D
HBE

68, Which of the following should be
the FIRST sentence after rear-

rangement?

inB 21c
(31D 4 E
(8 F

Directions [88-70) : In each
question below a sentence with four
words printed in bold type is given.

These are numbered as (1), (2), (3) |

and (4). One of these four words
printed in bold may be either wrongly
spelt or inappropriate in the context
ol the sentence, Find out the word;
which is wrongly spelt or inappropri-
ate, if any . The number of the word
is your answer. If all the words
printed in bold are correctly spelt and
also appropriate in the context of the
serience, mark [5) i.e, ‘All Correct’ as
YOLIT ANSWET, -
66. There were many objectives
(1)/ from employees to the pro-
posal (2]/ to amend (3)/ the
regulations. (4)/ All correct (5)
67. Since he has provided (1)/ over
halve (2)/ the finance for the
infrastructure (3)/ he should
be in charge, (4]/ All correct (5)
68. The scheme permits (1)/ in-
vestors (2)/ to buy the shares
from foreign (3)/ companies at
a ficsed (4)/ price. All correct
(5]
69. A leader who relles {1)/ on his
team members (2)/ for advice
(3)/ Is respected. (4)/ All cor-
rect (5]
70. He is in complete (1)/ agree-
ment (2]/ with your analyze
{31/ of the sitmation. (4]/ All

correct (§).
Directions (71-80) : In the fol-
lowing passage there are blanks each

ol which has been gumbered, These
numbers are printed below the pas-
sage and against euch five words are
suggested one of which fits the blank
appropriately. Find out the appropri-
ale word in each case,

Most of the employees had no
(71} in the ol Industry, Employees
were paid a (72) salary but they were

loyal and hardworking. They ofien

worked without breaks -
worked (73) for 72 hours to

they once

oil from a Russlan tanker. (74) m.ad:'

the difference was the support they | -

(78] from their bosses. On (78) occa-
sions the barrler between boss and

subordinate vanished. We all worked -

like a team and (77) unexpected re-
sults. The air force (78) presented a
letter of () to the company for the

nﬁmdm]mb?ﬂdwm

huj]tﬂlcnumpamrintuwhaltlhw- ]
day.

71. (1) practise {2} contact
(3) discipline (4) experience

* (B) knowledge
72. (1) minor (2] low
(3) less (4) cheaper
(5) little -
73. (1) continuously
(3) running - (4) near :
(5) slowly '
74. (1 Which  2) They
(3)What (4] There
kS i
78. (1) showed  (2) taken .
(3) wanted  (4) needed
(5) recelved - g,
76, (1) any (2) many
(3) couple  (4) regularly
(5] this ; -
77. (1) achieve  (2) seen .
(3 given  {4) contribute
(5) produced
78. (1) was (2) yet .
(3) even (4) instead .
(5) still.
{llmrihmtiﬁﬂm:k
(3} regret
(4) appreciation
(5) reward .

80 (1) though., (2 not _

(3) enough (4] beside-
(5) despite

QUANTITATIVE m,uua

Directions (81-100) : What
should come in place of the question
mark (?) in the following questions ?
81. 58% of 842 + ? = 1200

(1) 874.54 (2) 711.64

(3) 674.74  (4) 543:84

(5) None of these '

82. (59 + {12 = (2 + 600

(153 - “"'@2)48

(3155 (448

{5 None of these

N o] T
2" '-.‘1""‘-
oo g § Sl R

A 1
Mags @4y

R 1
‘ﬂ]i— HH—

-[5) None of these
H. 1221 + 1117 = ? % 6B80
(131 (2) 24
(3)35 {4) 18
(5) None of these
88. 52% of [7) = 3387.28
(116980  (2) 6342
(316718 . (4) 6538
(5) None of these

86. /12321 = 7
()1n (2) 121
(3) 81 (4) 91
(5] None of these
87. 72% of 654 - 41% of 312 = ?
(1) 276.60 (2) 298.72
(3) 336.84 (4) 342,96
-(6) Nane of these

- 88,2376 +32= 7.

(1) 74.25 (2167 "
3645 (4089
_ (5) None of these
H.B?EB‘B-riSEﬂE-?#TBBDE
(30125 (231265
(3) 32455 (4) 33555
(5] None of these
80.7+ 45 % 0 =215
(1) 1500 - (2) 1550
(3) 1525 (4) 1575
(5) None of these

9L 126x102 % 6.5 =7

(1)555.68 (2) 675,58
' {(3) 75548 (4) 835.38
(5) None of these

92,28677 + 7 =79 x 11

(nas (2) 1225
(3) 1089  (4) 35
(5) None of these -

' 98.12540 + 55+ B =7

(1) 32 (2) 38

(3146 (444

(5) None of these
B4.456 4+ 144 + 6% B=7

(1) 125 (2) 608

(3] 648 (4) 80O

(5) None of these *



16 %12 + 36
8. Joxg-25 =7

11

]
23 @235

205 wal
(Bl477s W3y
(5) None of these

6. 45% of 300 + /7 = 56% of 750 -
10% of 250
(1) 130 (2) 80
(3) 260 (4) 67600
(5) None of these -
97,805 + 440 + 55 = 7
(1)456 - (2)903
(31760 - (4)45
(5) None of these
88,12 x 8 +(M? = (141 |
{1y 10 (2) 1000-
3100 (W8
(5) None of these
99, 48% of 840 = 36% of ?
(1) 1080  (2) 1320
{3 1240  (4) 720
(5) None of these

1
IW-TEnf 188 + 565 = 2100 - ?

(1) 222 (2) 202
(3) 182 (4) 172
(5) None of these
101. If the product of two successive
positive Integers is 6162, which
is the smaller integer ?
mr @272
(3178 4] 74
(5) None of these
102. Thie simple interest accrued on
an amount of Rs. 10,530 at the
end of 5 years |s Rs. 6.318. What
is the rate of interest p.c.p.a. ?
(1)8 (2) 14
(3 10 4 12
(5) None of these
103, What should come in place of the
question mark (7} in the following
number serles ? .
2 5 11 23 47 95 ‘?
(1) 168 (2) 154
(3) 191 (4) 172
(5) None of these
104. What approximate value should
come in place of the question
mark (7 in the following question?
54.786 + 10,121 x 4.454 = 7

()84 = (248

muu (388
ma.:ht 8q. ft. is available
. rl:?”h 4,600 per 8q.

n If 30% of the total cost of the

plot is to be paid for booking the

plot, how much is the booking
amount? _
{1) Rs. 9,38,100
- (2) Rs. 8,83,200
{3) Rs. 0,83.200
i4) Rs. 8,358,100
(5} None of these
lﬂlﬁdngb:puuntnkuﬁ minutes
to fill a bottle. If from 11 a.m. to
12.30 p.m. 1845 bottles are to
be-filled, how marny persons
should be employed on this job ?
{1121 2127 .
{3) 136 4) 139
{5) None of these
107. What s the compound interest
accrued on-an amount of Rs.
15,000, atthe rate of 11.p.c.p.a.
at the end of 3 years ?
(1) Rs. 4,935.005
~ (2) Rs. 5,514.465
{3) Rs. 3,575.565
{4) Rs. 5,825.345
(5) None of these

108. The owner of a computer shop

charges his customer 13% more

than the cost price. If a custom-
«¢r pald Rs, 15, 983 for a com-
puter, then what was the cost
price of the computer ?
(1) Rs, 14100 (2) Rs, 16,500
{3) Rs. 12,700 (4) Rs. 18,200
(5) None of these
108. The cost of 12:nete-books and
16 pens s Rs. B52. What ia the
cost of 8 note-books and 12
pens? .
(1) Rs. 743 (2] Ra. 830
(3 Rs. 567
|4) Cannot be determined
[5) None of these
110, If (96 is added to the square of
anumber; the answer 8o obtained
.18 16441. What is the number ?
(1)67 73
(3) 89 “{4) 91
(5) None of these
111 In a class of 40 students and 5
teachers, each atudent got
sweets that are 15% of the total
number of students and each

teacher got sweets thal are 20%
of the total number of students
How many sweets were there

{1) 260 (2] 240
(3 320 {4} 360
(5) None of these

112, A sum of money is divided among
A B, Cand D in the rativ of
3:7:9:13 respectively. If the
share of B Is Rs. 4,872, then whai
is the total amount of money of A
and C together 7 _

(1) Rs. B,352 (2] Rs. 6,098
(3) Rs. 9,784  [4) Rs, 7,456
(5] None of these

113, The average age of a man and his
son I 18 years. The ratic of their
ages Is 5 : 1 respectively, What
will be the ratio of their ages af
ter G years ?

) 10:3 [(25:2
34:3  (43:1
(5) None of these

114. 42 per cent of first number s 56
per cent of the second number,
What is the respective ratio of the
first number to the second num
ber ? '
4:56
34:3
(4) Cannot be determined
(5] None of these

118. One-fifth of a number is 48, What
will be 62% of that number 7
(1] 164.668 (2) 148.8
(3)178.22 [4) 182.44
(5) None of these

118. In an examination it ls requirc
to get 310 of the aggregate marks
to pass. A student gets 28%
marks and Is declared failed [
83 marks. What are the maxi
mum aggregate marks a studen:
can get ?
(1) 685
{3} 775
{4) Cannot be determined
(5) None of these

117. The difference between 67% of a
number and 43% of the same
number Is 912, What is 19% of
that number ?

(1) 608 {2) 798
(3) 722 14) 684
(5] None of these

118. Mr. Vijay deposits an amount of
Rs. 45,500 to obtain a simple In
terest at the rate of 11 pcpa

[2) 31 : 42

(2) 765



for 3 years. What total amount
will Mr. Vijay get at the end of 3
years?
(1) Rs, 60,515 (2) Rs. 60,015
(3) Rs. 65,515 (4) Rs. 62,015
(5) None of these

118. Which number should replace
both question marks [?) in the fol-
lowing equation ?

70 44

17 7
{1} 92 i2) 132
{3) 76 [4) 88
(5] None of these

120. If an amount of Rs. 85,470 is dis-
tributed equally amongst 35 chil-
dren, how much amount would
each child get ?
il) Rs. 2,552
i3 Rs. 2,542
i3] None of these

REASONING

121. In a certain code DROWN is writ-
ten a8 MXNSC. How (s BREAK
written in that cocde 7
(1) LBFSC (2)JBDSA
13)JZDQA  (4) LZFQC
{5) None of these

122. Among M, N, T, R and D each
having a different height, T is tall-
er than D put shorter than M. R
is taller than N but shorter than

D. Who among them is the tall-
esl ?

(1) D
(M
(SIN
123. How many such digits are in the
number 5436182 each of which

s as far away from the beginning
of the number as when the digits

are arranged In ascending order
within the number ?

(1) Nane (2) One
13 Two (4) Three
{5) More than three

124. What should come next in Lthe let-
ter series given below ?

DDEDEFDEFGDEFG
HDEFGHIDEFGHIJD

(2) Rs. 2,452
{4) Rs. 2,442

@ T
4 R

(1) D @ E
3 F 4 J
(3] None of these

128. The letters in the word MORTI-
FY are changed in such a way

that the vowels are replaced hy
the previous letter in the English
alphabet and the consonants are_
replaced by the next letter in the
English alphabet. Which of the
following will be the fourth letter
from the right end of the new set
of letters ? '

(118 (2 .H

3G 4 N

(5) None of these

128. Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?
(1) Leal (2] Flower
(3) Petal (4) - Pruit
(5) Tree .

127. Four of the following five are alike
in a certain way and so form a
group, Which is the one that does
not belong to that group?

(1} Garlic ' (3) Ginger |
(3) Carrot ' (4] Radish
iﬂw' .

128. How many meaningful English
words can be made with the let-
ters ALPE using each letter only
once in each word ?

(1) Nane (2) One
(3) Two (4) Three
(5) More than three .

128, Four of the following five are alike
in a certain way and 8o form a
group. Which Is the one that does
not belong tothat group ?

1) 24 (2) 48
(3) 32 . 472
(5)64

130. How many such pairs of letters
are there in the word CHAMBERS
each of which has as many let-
ters between them in the word
as in the English alphabet ?
(I'Nene  (2) One
{3) Two {4) Three
(5) More than three
Directions (131-138) :In each

of the questions below are given three
statements followed by two conclu-
sions numbered ['and I1. You have to
take the given statements to be true
even if they seem to be at varlance
from commonly known facts. Read all
the conclusions and then decide which
of the given logieally fol-
lows from the given statements disre-
garding commeonly known facts.

Give answer (1) if only Conclu-
sion | follows,

Give answer (2) if only Conclu-
sion 11 follows.

Give answer (3) if either Conclu-
sion 1 or 11 follows.

Give anawer (4) if nefther Con-
clusion I nor I follows.

Give answer (8) if both Conclu-
sions [ and II follow.
131. Statements :
Some toys are desks.
Some desks are pens.
All pens are rods.
Conclusions :
1. Some rods are toys.
II. Some pens are tays.
132, Statements :
Some table are huts.
No hut is ring.
All rings are bangles.
- Conclusions :
1. Some bangles are tables.
11. No bangle is table,
133. Statements :
All stars are clouds,
All clouds are rains.
All rains are ston
Conclusions :
[. All rains are stars.
il. All clouds are stones.
134. Statements
All windows are doors.
Some doors are bulldings.
All bulldings are cages.
Conclusions :
I. Some cages are doors.
[1. Some buildings are windows.
135, Statements :
Some chairs are rooms.
All rooms are trees.
All trees are poles.
Conclusions :
[. Some poles are chairs.
II. Some trees are chairs.
Directions (136-140) : Study the
following arrangement carefully and
answer the questions given below :
GMGID#JKE2ZPTAWHRAFIU
BSNVEQOTH1I®BO %2
136. Four of the following five are alike
in a certain way based on their
positions in the above arrange-
ment and so form a group. Which
is the one that does not belong
to that group ?



MoJdi
BH@1
(S)1#5
137. %ﬂtﬂmﬂdmmphﬂedﬂm

question mark (?) in the following
series based on the above ar-

rangement 7
DJK 2T4 ®F3 7
(HUSV  (2) UBN
38BNV (4 BNI
(5) None of these

138. How many such numbers are

{2 FUA
4 Bx©

there in the above arrangement,
each of which is immediately pre-
ceded by a vowel and also imme-
diately followed by a symbol ?
(l}Nome (2} One -
(3) Two (4) Three
(5] More than three
138. How many such consonants are
thminthtlbﬂtm.
each of which is immediately pre-
ceded by a number but not im-
mtdtatdyfﬂlhndhflmnm-
nant?
(1) None  {2) One
(3 Two {4). Three
(5) More than three :
140. Which of the following is the
fourth to the right of the twelfth
from the right end of the above
arrangement 7
(1)8 @ 7
K 4 A
(5) None of these

Directions (141-148) : Study the
following Information carefully and
a_nmrthequnumpunhdw

A/ B.C, D, E F GandH are
sitting around a circle at the cen-
tre. F is third to the right of B who is
third to the right of H. A is third to the
left of H. C is fourth to the left of A. E
is third to the right of D who is not a
neighbour of A,

141. In which of the following pairs the
second person is to the immedi-
- ate right of the first person ?

(1) HC (2)BE

(3GB {4) FA

(5) None of these :

142. Who is second to the right of D ?

(WF

2)G

(3A

{4) Data inadequate

(5] None of these

SR

lﬂmhmmmmdﬂ?

() H @D

@c < WF

[5) None of these
. 144. Who Is fourth to the left of C 7

(UF (2] A

(NE :

{4) Data inadequate

(5) None of these
148, What Is B's position with respect

toD?

() Fourth to the right

(B) Fourth to the left

{C) Fifth to the left

(D) Fifth to the right

(1) OnlyA [2) OnlyB

{3) Only Aand B

(4) Only C and D

(5) None of these

" Directions (148-180 ) : In each
question below is given a group of let-
tera followed by four combinations of
digits/symbols numbered (1), (2), (3)
and{4). You have to find out which of
the combinations correctly representa
the group of letters based on the fol-
lowing coding system and mark the
number of that combination as the an-
swer. If none of the four combinations
correctly represents the group of let-
ters, marks (5) L.e. 'None of these' as

hanm Flulwie
ur|n| -unu'%nsu

ﬂ Ifhﬂtlllhnﬂntmdmetasi
letters of the group are con-

sonants, both are to be cod-

ed as the code for the last let-
t“' -

(0 If the first letter 1s a conso-
nant and the last letter is a

' " vowel, the codes are to be in- -

terchanged.

148. BDATFE
(1) 6881468 (2) 688140
(3) 068140 (4) @88146
(5) None of these

147. AWBRND
[l}m [2) 8583c¢
(3) 8365€8 (4) 853808
[5) None of these -

148, EMNTKU
M*¥01%0
Re#cldix
B.oND1%%

8

M #@D01 %%

(5) None of theae
148. MDEAJ]

(ll1s@82#

Z#s@821

B1s@821l

4 #s3@82#

(5) None of these
180, RKUMFP

(7% *#43

@ 3%k%H47

B 3% x#ad

4)3% *#u47

{5) None of these

Directions (181-188) : In the (oi-
lowing questions, the symbols §, @
€, % and * are used with the follow-
ing meaning as illustrated below

‘P @ Q' means ‘P Is nol greater
than Q'

‘P % @' means ‘P Is not smalles
than @'

P Q" means ‘P is neither great
er than nor smaller than Q.

‘P © Q" means 'Pis nelther great
er than nor equal to Q.

‘P8 Q' means 'Pis neither small-
er than nor equal to Q'

Now in each of the following ques
tions assuming the glven statements
to be true, find which of the two con-

clusions I and 11 given below them Is/
are definitely true ?

Glve answer (1) If only Conelu-
sion ['is true.

Give answer (2) if only Conclu
sion II is true.

Give answer (3) if elther Conclu-
slon [ or Il is true.

Give answer (4) if neither Con

. clusion [ nor 11 is true.

Give answer (8) If both Conclu-
sions | and Il are true.

151. Statements :
RSM MEF F%J
Conslustions: 1. R5.J
II. FE@R

182. Statements:
MEDD@K KxN
Conslustions: [ NSD
I. K& M

153. Statements :
B@D.DEMM&N
Conslustions: | N& D
II. DEN



154. Statements :
FEWW®%JJEN
Conslustions: [.J@F
Il N % W
155. Statements :
FET.THR R8W
Conslustionst | WS T
ILRET
Directions (186-180) : In each
ol the questions given below which one
of the five answer figures should come
after the problem figures if the se-
rjuence were continued 7
156, Problem Figures

!fl'lir

OarEE| &

@ @ W 1
167, Problem Figures

SRS
Answer Figures
LRV RIR

@ @) @& 6)

o & @6
158, Problém Figures

(5]
scpz| B l J:i*
£

=
il= Q=
BCIZC S
m @ B @ (5

161. Difference between Direct and
mmmmmwh—

(1) Direct Marketing is to Bank's |

mlu,\-o-.rmwun

@ mmhnm
ers, Indirct is to employees

(3) Direct is to Bank's

owners, Indireet is to otsid-
@ nmmmisum
qmplwulnhruh
tuautlldu-
® Hmd‘tﬁm

tive ng because —

(1) he likes Indlan goods
[2) he does not like Indian goods
(3) he is easily approachable
mlthuhuwtnmﬂl:tﬂma
(5) There are special products
designed for NRls

165. A DSA helps in — |
(1) Boosting Direct Sales °

(2 WMMM

[-?-Ihﬂmctw

(4) Direct Telemarketing

(5] None of these
106. Marketing is required for —

(1) Boosting production

(2] Boosting sales

(3) Boosting profits

thhgnﬂwm

(5) All of the above .
167.Acoldcallis—

(1) Best way to doMarketing

(2) A last resort for Marketers

9

(3) Marketing at random
~ (4) All of the above
(5) None of these
168. A call can be effective by —
(1) Making a phone call
' (2) Sending an e-mail
(3) Calling on friends
(4) Service with several facilities
(5] Personally calling on prospec-
tive customers
189, Good Selling skills involves —
(1) Alertness '
(2) Knowledge of competition
(3) Perseverance -
(4) Empathy
(5) All of the above
170.Which of the following is not
channel for barik marketing ?
(1) Telemarketinig
 (2) Internet Banking
(3) Mobie baniing
(5) None of these
171. A Prospect means —
(1) a person likely to work in a
‘Bank
~ [2) college syllabus
13 aReligious head
{4) a likely buyer
(5) None of these
172. Product development is —
(1) Useful for bank marketing
(2) Not useful for bank market-
Ing

" (9) They have no role fo play in

bank marketing
* {4) All of the above
() None of these
173. Marketing ls successful when —
(1) Demand exceeds supply
(2) Supply exceeds demand
(3) Exports are heavy and costly
(4) Salesmen are effectively
trained
(5) Al the above situations
174. In Marketing, Market penetration
means —
(1) Entering likely Purchasers’
houses

(2) Entering stores and shops
(8) Covering a wide area of the
market

(4) All of the above
(5) None of these



175. Innovation helps tn —
(1) Designing new products
(2} Improving marketing funictions
{3} Increasing sales
i#) New methods for increasing
prospects {
(5] All of the above .
176. Marketing strategy means —
(1) New ideas to true'more tus-
tomers

(2) New methods to retain the

customers O
(3] New ways to contact the new
customers 1
{4) New marketing tenhmqm
{5) All of the above
177. Successful Markeﬂng strategies
need —
(1) Knowledge of nuntnmars
tasles
(2] Good leadership -
(3) Proper direction and guidance
(4] Knowledge of peers
(5] All of the above
1?5. Promotion means —
(14 Additional
(2] Doing research in marketing
{3 Advertisement and publicity
for marketing
(4) Going up the ladder in Gov-
ernment establishments
(5) All of the above )
179. Diversification means — .

(1) Marketing in diverse coun-

tries .

(2) Marketing in diverse compa-
nies

(3) Making new, diverse products

(4) Used only for transactions | .

with foreign countries
(5) All of the above
180. Motivation is very much required
effective marketing. What other
qualities are required ?
(1) Confidence :
[2) Effective Communication
skdlls J
[3)} Team work
(4) Perseverance
(5) All of the above
181, What menu is selected to print ?
(1) Edit (2) Special '
{3) File {4] Tools
{3) None of these I
182, The name a user assigns to a
document is called afn) —
(1) Filename ~ (2) Program
{3} Record (4) Data
{5) None of these

183. 4 ;.18 an electronic device .

that process data, converting it
intoinformation. -
(1) Processor - (2) Computer
(3 Case,”  {4) Stylus
5] None of these

184. .are words that a pro-

gramming language has set aside
for its own use.

(1) Control words
(2) Reserved words
(3) Reserved keys
{4) Control structures
(5) None of these

188. What are the two types of output

devices?
(1) Monitor and printer
(2} Storage disk (floopy. CD)
(3 Keyboard and Mouse
(4) Windows 2000, WInl;luwsNT
(5] None of these
188. To access properties of an obiject,
the mouse technique to use is
(1) dragging
(2) dropping
(3) right - clicking
{4} shift- clicking
(5] None of these '

187.A (n) is a program that-

makes the computer easler to use.
* {1} Operating system
(2} Application (3} Utility
(4] Network] .
5] None of these
188, Connectipns to the Internet us-
. Ing a phone line and a modem
arecalled __  connections.
{1) Digital (2) Dial- up
{3) Broadband  (4) Dish
' 18] Both2 and 3
188, To access a mainframe or super
computer, users often use a —
1) Terminal . (2} Node
(3] Deesktop. (4) Handheld
{5) None of these . '
180, A flaw In a program that causes
it to produce incorrect or in ap-
propriate results is called a __
(1) Bug (2] Byte
(3) Attribute {4) Unit problem
{5) None of these
l’ll-ﬂ“’chdtc address is a unique
name that identifies a specific
___ on the Web.
{1) Web browser
(2) PDA (3 Webr site
- {4) Link (5 None of these

10

182. Every component of your compul
er is either —
(1) hardware or software
{2) software or CPU/RAM
(3 application software or sysien
software
[4) input devices or outpul devis
€5
{5) None of these
183, To make the number pad act 2
directional arrows, you press (hy
— key.
(1) num lock (2) caps lock
(3} arrow lock
(4) shift
(5) None of these
184. When creating a word-processe:
document, this step involves ihe
-user changing how words on 1l
page appear, both on the sereen
and In printed form.
(1) Ecliting text
(2] Inserting tables and incexes
(3} Formatting text
(4) Proofing docurmernts
(5] Print Preview
188. The performs simple
mathematics for the CPU.
(1) ALU {2) DIMM
© 3 BUS 4 Register
(5} None of these
186, Reusable optical storage will 1
ically have the acronym
(1) cD (2] RW
(3 DVD {4) ROM
(5) None of these
— Is processed by Lthe com
puter Into information.
{1} rumbers (2] processor
[3) input  (4) data
(5) None of these _
188, Personal computers can be con
nected together to form a -
(1) server (2] super compule:
{3} enterprise
(4] network
(5) None of these
188, A word in a web page that. whe:
clicked, opens another docurn: !
is called —
(1} anchor
[3) reference
(5 None of these
200. The of software contains
Msts of commands and option:
(1) title bar 12) menu L
(3) formula bar  (4) tool bar

(5} None of these

197.

{2) hyperlink
{4) URL



ANSWERS | EXPLANATIONS
: 48, (3) The meaning of the word Hin-
.L I:r E (K] :-{3} 4. (4) " s [Noun) aamnﬂln-thc
S0 6@ 7.0 8.0 pasage s | the act of making it
- 9.13] 10.(5] 1L @} 12.7) |, more difficult for somebody to do
(13,141 14.(5)( 18.(2]] 18.(4) something or for something to
17. (5] 18. @[ 1@ ][ 20. @) happen. '
LG5 WA B[ 24 Look at the sentemces: = '
25.(3)] 26.12)] 27.[21] 28.15) The high price is a major hin-
39.3]] 30.19)] EXIEX drance to potential buyers.
33.14)] 340 88. | 36,8 He was able tocomplete his jour-
497,14 38.15)] 88.(1)| 40.(5) ] ney without further hindrance.
Al 2] 20| 83| @@ Hence the words hindrance and
| 1815|468, ] a7 8| 48,3 interruption are synonymous
19,14/ 50.@)| BL.55)| 92. @ | b"“""‘,’m’mm“m"! "“t"m""l“
- 53.74)] B4 (1) B6.(3)| B6.(8) k: g
| =~ ran.lyur.opqmnctmtynramu-
- 67,44 88 (3] 5. (51| s0.(1) ation. ;
| 61.15)| 62.(3)| €3.(1)] 64.(2) Look st the sentence :
65.14)| ee.(1)| 67. (21| 88. @] | managed to work fo two hours
89.51] 70. @] TL@| 720 - withoutinterruption. ' * |
73.(1)| 74.(3)] 78.55)| 76. (2 49. (4) The meaning of the word Of-
77.15)| 78.3)| 79.(@)| 80.(1) mw;:ﬁ”hmm
sage e somethin
81.(4].82.19| 63.(1){ 84.19 avallable dr to provide opportu-
85.15)| B6.(1]| 87. (41| 88.(1) | nity for something. . -
89.05| 00.(4}| oL (@] 923 | | Look at the sentences :
93. 21| 4. @) 96. 51 96.(4) | The hotel offers excellent facili-
97.12]| 88.(1]] 98.(5) | 100. (2) ties for families. _
101. {1) | 102. (4) [ 108. (3) | 104. (5). She did not offer any explana-
105. (2)| 106. (5) | 107. (2) | 108. (1) tion for her behavioyr.
100. (21| 110, (5) [ 111, (5) [ 112. (1] Hence, the words offered and
113. (3)[ 114, (3| 118. (2] | 118. (3} proviiell are syl
117, @[ 118 [11e @ [ 120. @ | | 90 (3) The meaning of the word Pile
L (Verb) as used in the passage is :
121. [2)[132. (3) 138, (2) | 124. (3} bo acctrivalat to ,
: ; to put things one
125. (5)] 126. (5) | 127. (5) | 128. (4)
S ) e . on top of another; to form a pile,
1129, (51| 130. (3)[181. @) [ 132. 3) Look at the sentence :
193, [2)[ 134, ) [196. 151 | 196. ) The clothes were piled high on |
137, 13| 138, 2} [ 190, (3) | 140. @) the chalr, g
141, (1]| 143, (5 | 148, (31 | 144 2 She the bares one.on
145.13)] 146, (4| 147. (2) | 148, 3] 'nmm e
148, (5] 180, (5)[ 181, (4) [ 182, (5 Of the given alternatives, the
153. (2)] 154, [4) 188. (1) [ 166. 2 word emapty (werb) means : to
157. (1)| 168, (2) [188. [4) | 180. 5] remove everything that Is in a
161. (5] 162. (4) |163. (5) | 164. [5) container et |
165. (4)| 186, (5)[ 167. (2} | 108. (5) Look at the sentence : -
169, [5)] 170. (5} | 171. (4) | 173. (1) He emptied the water out of the
173, [4][ 174. (31| 178. (1] | 176. (5) vase.
| 177, 51| 178. (3] | 179. (3 | 180, (5) mﬂ“mrm
181. {3)| 182. (1] | 183, (2) | 184. (4) 2.0 R T'l e afwond ik
185, {1]| 186. {3] l!?-lal 188, (5) | . benaﬂtfnr'l::f“l:l:hmﬂm e
169, 111190, 181 D118 (1) | | g (4 Actorningto the sénse ofthe
| 193. (1]| 194. (5] {198, (1) | 108, (2) | | - sentence;: group of words 'none
| 197. (41| 198, (4) | 190: (2) | 200, (2 of the instructions' should be re-

11

placed by ‘any of the instruc-
tions'. Here the word 'failed’
shows 3 ncgd'l‘.mlaenﬂe.

B4. (1) ‘At least’ 1s a form of idiom
which means not less than.
Look at the sentence :
1t will cost at least Rs. 500.

88. (3} An Adverb modifies a Verl;,
‘Hence; ‘who usually wrote’
‘should be used in place of ‘who
usual wrote'.

B8. (4) Use of Past Participle is prop-
«r here. Hence, ‘occupied with'
"should be used in plam of ‘oe-
cupyingby.

§7. (2) The group of words 'go over
something’ means : to examine
or check something carefully.

.. 88. (1] The appropriate word would

be — objections.
87. (2) The appropriate word would
be - half.

88. (4] The correct spelling is — fixed.

' 70. {3) The appropriate word would

be — amlyuls.

53*‘?31'.'101]

8l1.(2)

= 488.36 + 7 = 1200

=7 = 1200 - 488.36 = 711 .64
B2. [3) 3481 + 144 = (A2 + 600

= (M2 + 600 = 3625

= (7 = 3625 - 600 = 3025

L P= J3025 = 55

1 .2 9

24— +3+5 ]

€. () 72245 +3+ 2 12
_ {_‘+2_1‘.
=@+3-1+5*5 "3

(3+E-5]
=4 + 15




? © 3387.28 x 100
=5 -"'—-—52
= 8514

8. (1) ? = 12301 -Ji'lﬁt 111
=]11

Bﬂx?ﬂ_ N2x N

_ 100 100

= 470.88 - 127.92 = 342.068

8.4 7=

88 (1) 7=

2378
ag - Tﬂ?ﬁ '
88. [5) ?-W?m*m-m
= 111447 - 78002 = 32545

1
m'-“:l —4'-5-:19-315

% 315
=3 E.I

= ?7u316x5 = 1575
= 836.38

92.(3 gu‘:;z-?ﬂ:ll, .

20677
=/ " Jaxqi=38

S 7=33x33 =1089

12540
.07 ggge

144
M. 7?=456 + Tn!

= 456 + 192 = 648

182 + 38
.67 %

_Mxﬂ_mxiﬂ |
100 100-

= 135+ﬁ =430 -28 = 305

= 7 =395 - 135 = 260
= 7 = 260 x 260 = 87800

ntﬂ?l

' 440
“lﬁ?.ﬂf‘-

55
lm‘i
98.(1) 96 + (7P = 196
= (7 = 196 - 96 = 100

=7= m-l{l

38 JB0x 4
100 T

100. (7) lH'xi:- + 565 = 2100 - ?

- = 1333 + 565 = 2100 - 7
= 1808 = 2100 - 7
= 7= 2100 - 1898 = 202
101. (1) 78 x 79 = 6162
< The smaller integer = 78

8.1 x 100
102, 4 e B Tirg

6318 x 100
® 10830 x 5

= 12% per annum
m{ﬂmmmmu

based on the following pattern :
2x2+1mf

BxZ+1ml]
11x2+1=23
2Wx2+1ud7
47H2 41 w05

LTeBBx34+1
=190+ ] = 19]

56
mm-?-— X4.5=24.75 = 24

{54,786 = 55; 10.121 = 10}
108. () Mmdﬂupiol
= Ra, (640 x 4800
L hl m
= Booking amount
= 30% of 2944000
2044000 30
[ | 1"-_m -
= Rs. 883200
100. (5)
Tima Bottles Men
8 minutes 1 1
90 mhumT HMl X l

where x = number of men

12

"1 ia4s]
=90xx=>6x |845

€ x 1845

=X= 90 = 123

107.(2) C.I, = P({T"“_' | -

f[1 RN
_lﬁm}t +1m}| 1

- 15000 -

= 15000 (1.367631 -1}
= 15000 x 0.367631
= Ra. 5514.465
108. (1) Cost price of computer
100

= Rs | —2 « 1593
Ra. [113 g 3

= Rs.14100
108. (2) Let the CPof 1 note ook
=Rs. xand CPof I pen = i
According to the question,
12x + 16y = 852
Dividing both sides by 4,
3x + 4y = 213
= MHIx+ 4y =3x213
= 9x+ 12y = 639
110. (5} Let the number be x
According to the question
x + (96) = 16441
= ¥+ 0216 = 16441
= &= 16441 - 9216 = 7227

= x= /7205 =85

111. (5) Number of sweets giver (.1
students

15
a4 x 40 x— =240

100
Number of sweets given (o o]
20
teachers = 5 x 40 100
= 40
. Number of all sweets
= 240 + 40 = 280
113, (1) Let the iqtal amount = Kx
Sum of the flitios

234+7+8313=32



113,

B's share = Rs. 4872

7
= xxgg = 4872

4872 x 32
= K=o 7
= Rs, 22272

- Amount recefved by A and C

(e

= Rs. 8352

(4] Let the present age of the
man = 5x years and that of son
= X years,

According to the question,
Sx+x=18x12

36
= Gx=d=x= =6

6

- Man's present age = 5 x 6

= 30 years
Son's present age = 6 years

- Required ratio after 6 years

114.

115.

=36:12=3:1

{3) Let the first number be x and
the second number be y.

According to the question,
42 56
——— x S
“* 200 ~ ¥ * 700
x_56_4
y 42 3
(2) Let the number be x
According to the question,
X i
5= 48 ;

= x=0x 48 = 240

- 62% of 240

116.

117,

240 x 62

* o0 - 148.8

12 28% of maximum marks
=310-93 =217
Maximum aggregate marks
217 x 100
[3) Let the nu be x.

Il
According to the question,
{67 - 431% of xx 912

=775

= X imnﬂl;

812 x 100
= x= o0

45500x 3 x 111

100

= Rs.15015 ,

*. Required amount -

= Rs. (48500 + 15015)

= Rs. 60615
lmmmﬁﬂmxu-uxnu
'?-H:gitﬂ

mﬂlﬂmuuntmﬂndhruch
child

m [554?1}]
= 35
= Rs, 2442
121.(2)

-1
+1
-1

122, () M>T>D>R>N

5 43|81 8.2
13.2 ¢ 2|3l4 5 6 8
124. (9) D, DE. DEF,'-,ﬁiﬂL DEF-

GH, DEFGHI, DEFGHLJ, D[E |

13

128. (5)

—

M O R T | F
1;11 -11+Tl +1 -‘iﬂ, #1
N N 8 H G
126. (5) All others are parts of a Tree.
137.(5) Except Brinjal, all others
grow underground.
128, (4) Meaningful Words

. =+ LEAP, PALE, PEAL
129, (5 The number 84 is perfect

]

square of a natural number.
180.(3)
3 B 113 2 8 18 19
C H AWM BE R §
(131 - 139) :
{i) All pens are rods — Universal
Affirmative (A-type).
{i) Some toys are desks — Particu-
lar Affirmative(l-type).
{iif) No hut is ring — Universal Neg-
ative (E-type).
(v} Some huits are not rings — Par-
ticular Negative (O-type).

131 {4) Some PJ#M.
T All pefit are rods.
I + A= I- type of Conclusion.
“Some desks are rods.”

133 (3) Some tables are huts

ﬁﬁ hut i ring.
I + E = O- type of Conclusion
. "Some tables are not rings".
No hut is ring.

All rings are'bangles,

E + A= O- type of Conclusion
“Same bangles are not huts".
Conclusions I and I form Com.-
plementary Pair, Therefore, ei-
* ther Conclusion 1 or 1l follows.

183 (2) All stars are clouds.

Al elouds are raing,

A+ A= A- type of Conclusion
“All stars are rains,”



All clouds are rains.

All rains are stones.
“All clouds are stones.”
This s Conclusion 11,
134. (1) Some doors are ings.

All buildings are cages. -

1+ A =|- type of Conclusion
Concluaion | is Converse of this
Conclusion,

13. (5) Some chairs &re fooms.

“All reoms‘afe traes.

1 + A »]-type of Conclusion
“Some chalrs are trees”,
Conclusion Il Is Converse of this
Conclusion. .

Some chairs are resd.

All trees are poles.

198, () [Vowel [Nomber [ Symbel]

Such combination s : [UBS
130.{3)

Number| Consonant | Consonant

[4w) (03]

140. (2 4th to the right of the 13th
from the right means 8th from
the right, 1e.. 7. - ,

(141-148):
k '.I ¥ !

E
4.4B D A T F E
A N T S i
@ 8 8/t 4 8
Condition {) is applicable.
47.2)A W B R N D
L A N |
8 56 3 0 8
ML(E M N T K U
A A N A ]
@ 4 0 1 % x
Me.(55M D E A J |
L A I A
g B 0.8 2 &
Condition (if) je applicable.
1.BR K U M F P
O e N ]
7 % % ¢ 4 7
Condition Is applicable.
(s - :hrg
_-Mu-ﬂo.-nsu
. P%QePrQ =P2Q
-,:Iﬂﬂ?tnn?#ﬂl’iﬂ
: -9
ﬂﬂ?m?!“mﬂl’iﬁ

MP8Q=Pg n.-nh-g
1BL 4 REM=R>M
MOF=sM<F
FHlmRaJ
. Therefore,
R>Me<F3y
‘I. R8J=R>J: Not Trnie
I rnn-’hn Not True
Iﬂ.m unnqu-:n
D'K-D;K w
Ke*N=sK=N d
Therefore, M<DgKaN
Conclnsions
LNSD=N>D:Tnie
LK M= K>M: True

14

1. 2B@D=B<D
DEM=DsM
MkN=MaN
Therefore, B<D>M=N
Conclusions
LN@D=NgJ: Not True
ILDSN=D>N:True

154 (4] FEW=F>W
Whi=WzJ
J@N=JxgN
Therefore, F> W= J s N
Conclusions
LJ@F=J<F: Not True
ILN%Ws=NzW: Nat True

185.{) FET=F<T
T%R=TzR
REW=R>W
Therefore, F< Tz R> W
Comclusions
ILWeT=WzT: Truc
[LR®T=R«<T: Not True

186. (2) In each subsequent figu
line segment is added In i s
pattern.

157. (1) In each subsequent figure i1
lowermost design moves tc 11
top and other two desigrs ar
Inverted.

The problem 18 based on the rul:

“_l = [‘u [2] = {5] and henee
(3) = (8).

I!I-[El' In each subsequent figui

line segment s deleted in ari;
clockwise direction and in 11
next figure the deleted line sep
ment reappears.
150. (4} In each subsequent figure th-
plane of desighs rotates throug)
45° clockwise, the first desipn
mavmtnﬂtethirdpmmon and
the fourth design 18 replaced will:
a new deaign In the first step. I
the next step the second design
moves to the fourth position an:
the first design is replaced with
@ new design. These two sleps
are continued In alternate man
NeET.

180, (5) In the subsequent figures the
pre-existing design(s) move|s|
one step and one and hall sieps
In anticlockwise direction alte:
nately. One new design iz ad
ﬂh]frmtﬂ-ﬂ'ldbchinﬁﬂ'le pre

quu alternately in th
subsequent figures and two (-
signs interéhange positions in
set pattern.



